

$$B(1,1) \quad A(5,-5)$$

لایه های

$$M\left(\frac{x+1}{2}, \frac{y+1}{2}\right) = M(3,1)$$

$$m_{AB} = \frac{1-(-5)}{1-5} = \frac{6}{-4} = -\frac{3}{2} \rightarrow m = -\frac{1}{m} \rightarrow m = \frac{2}{3} \rightarrow y-1 = \frac{2}{3}(x-3)$$

AH, BC

$$ABC \leftarrow C(-1,3), B(5,1), A(3,1) \quad (2)$$

$$BC = \sqrt{(-1-5)^2 + (3-1)^2} = \sqrt{36+4} = \sqrt{40} = 2\sqrt{10}$$

$$AB, AC \rightarrow S = \frac{1}{2} \left| \begin{vmatrix} -1 & 3 \\ 5 & 1 \end{vmatrix} \right| = \frac{1}{2} \left| -1-15 \right| = \frac{1}{2} \left| -16 \right| = 8$$

$$S = \frac{1}{2} \times BC \times AH \rightarrow AH = 2$$

$$BC - AH = 2$$

$$y = ax + 1 \quad y - x = 1 \quad (3)$$

$$y - x = 1 \rightarrow y = x + 1 \rightarrow m = 1$$

$$y = ax + 1 \rightarrow y = \frac{a}{x} + 1 \quad m = \frac{a}{x}$$

$$\frac{a}{x} = 1 \rightarrow a = x$$

$$y - x = 1 \rightarrow y = x + 1$$

$$y = ax + 1 \rightarrow y = x + 1$$

$$d = \frac{|C - C_0|}{\sqrt{A^2 + B^2}} = \frac{|1 - (-1)|}{\sqrt{1^2 + 1^2}} = \frac{2}{\sqrt{2}} = \sqrt{2}$$

$$S = \frac{1}{2} \times BC \times AH = \frac{1}{2} \times 2\sqrt{10} \times 2 = 2\sqrt{10}$$



$$C(-1,3), B(5,1), A(3,1) \quad (4)$$

MH در AB, دایره های بیرون, H, M

$$M\left(\frac{x+1}{2}, \frac{y+1}{2}\right) = M(3,1) \rightarrow m = \frac{1-3}{3-1} = -1 \rightarrow y-1 = -1(x-3) \rightarrow y = -x+4$$

$$H = \frac{ax_0 + by_0 + c}{\sqrt{a^2 + b^2}} = \frac{-1(3) - 1(1) + 4}{\sqrt{1+1}} = \frac{-4}{\sqrt{2}} = -2\sqrt{2}$$

$$MH = \sqrt{(3-3)^2 + (1-1)^2} = 0$$

$$x = -1 - 1 \times \frac{-9}{2} = -1 + \frac{9}{2} = \frac{7}{2} \rightarrow H\left(\frac{7}{2}, 1, 0\right)$$

$$MH = \sqrt{\left(\frac{7}{2}-3\right)^2 + (1-1)^2} = \sqrt{\left(\frac{1}{2}\right)^2} = \frac{1}{2}$$

$$y = -x + 4 = -\frac{7}{2} + 4 = \frac{1}{2}$$

$$MH = \sqrt{\frac{1}{4} + \frac{1}{4}} = \sqrt{\frac{2}{4}} = \frac{\sqrt{2}}{2}$$

$$MH = \frac{\sqrt{2}}{2}$$

$$- \omega) \quad (m+1)x + (m-1)y + 1 = 0 \quad (m-1)x + (1-m)y - 1 = 0 \quad m, 1, 2, 3$$

$$m_1 s = \frac{m-1}{1-m}$$

$$m_2 s = \frac{m+1}{m-1}$$

$$m_1 \times m_2 s = -1 \rightarrow -\frac{m-1}{1-m} \times \frac{m+1}{m-1} = -1$$

$$\frac{(m-1)(m+1)}{(1-m)(m-1)} = 1$$

$$(m-1)(m+1) = (1-m)(m-1)$$

$$m^2 - 1 = m^2 - 1$$

$$0 = 0$$

$$\Delta = (-1)^2 - 4(1)(1) = 1 - 4 = -3$$

مستقیم برای $\Delta < 0$ است.

9) $\begin{cases} AB: x + y = 1 \\ AC: y = x - 1 \\ BC: x + y = 1 \end{cases}$ $\frac{AM}{AH} = ?$

$$x + y = 1 \rightarrow \Delta x = \Delta \rightarrow x_A = 1$$

$$y_A = 1(1) - 1 = 0 \rightarrow A(1, 0)$$

$$x + y = 1$$

$$x + y = 1 \rightarrow x = 1 - y$$

$$1 - y + y = 1 \rightarrow y_B = -1$$

$$x_B = 0$$

$$x + (x - 1) = 1 \rightarrow 2x = 2 \rightarrow x_C = 1$$

$$y_C = 1 - x_C = 1 - 1 = 0$$

$$x_C = 1, y_C = 0$$

$$M = \left(\frac{x_B + x_C}{2}, \frac{y_B + y_C}{2} \right)$$

$$M = \left(\frac{0 + 1}{2}, \frac{-1 + 0}{2} \right) = \left(\frac{1}{2}, -\frac{1}{2} \right)$$

$$M = \left(\frac{1}{2}, -\frac{1}{2} \right)$$

$$AM = \sqrt{\left(\frac{1}{2} - 1\right)^2 + \left(-\frac{1}{2} - 0\right)^2} = \sqrt{\frac{1}{4} + \frac{1}{4}} = \sqrt{\frac{2}{4}} = \frac{\sqrt{2}}{2}$$

$$AH = \frac{|1(1) + 1(0) - 1|}{\sqrt{1^2 + 1^2}} = \frac{0}{\sqrt{2}} = 0$$

$$\frac{AM}{AH} = \frac{\frac{\sqrt{2}}{2}}{0}$$

$$\frac{AM}{AH} = \frac{\omega \sqrt{2}}{1 \sqrt{2}}$$

$$\boxed{\frac{\omega}{1}}$$

$$\textcircled{V} ms - \frac{1}{r} \rightarrow \sqrt{r_0}$$

$$y = -\frac{1}{r}x + b \rightarrow \frac{1}{r}x + y - b = 0 \rightarrow x + ry - rb = 0$$

$$ds \frac{|ax_0 + by_0 + c|}{\sqrt{a^2 + b^2}} \rightarrow \sqrt{r_0} \cdot \frac{|1(0) + r(0) - rb|}{\sqrt{1 + r^2}} \cdot \sqrt{r_0} \cdot \frac{1 - rb}{\sqrt{r_0}}$$

$$x \rightarrow 0 \rightarrow y = b \rightarrow A(0, b)$$

$$y \rightarrow 0 \rightarrow 0 = -\frac{1}{r}x + b \rightarrow x = rb \rightarrow B(1, 0)$$

$$\frac{rb}{\sqrt{1+r^2}} \cdot \sqrt{r_0} \cdot \frac{1}{\sqrt{r_0}} = b$$

$$|AB| = \sqrt{(1-0)^2 + (0-b)^2} = \sqrt{1+b^2} = \sqrt{1+r^2} \cdot \sqrt{r_0} = \boxed{AB \cdot \sqrt{r_0}}$$

$$\textcircled{\Delta} \quad m_y \in x \leq m \quad y + mx = x + r \rightarrow y = (1-m)x + r \quad \text{is } \frac{\Delta}{r}$$

حاصل ضرب مقادیر ممکن؟

$$0 = (1-m)x + r \Rightarrow x = \frac{-r}{1-m}$$

$$0 = \frac{r}{m}x + r \Rightarrow x = -\frac{m}{r} \cdot \frac{r}{1-m}$$

$$usb \quad |x_1 - x_2| = \left| -\frac{m}{r} + \frac{r}{1-m} \right| \rightarrow \frac{\Delta}{r} \rightarrow \left| \frac{m^2 - m + r}{r(1-m)} \right| \cdot \frac{\Delta}{r}$$

$$\rightarrow \frac{m^2 - m + r}{r(1-m)} \cdot \frac{\Delta}{r} \rightarrow m^2 - m + r \cdot \frac{\Delta}{r} - \Delta \cdot m \rightarrow \boxed{ms - r \pm \sqrt{\Delta}}$$

$$\rightarrow \frac{m^2 - m + r}{r(1-m)} \cdot \frac{\Delta}{r} \rightarrow m^2 - m + r \cdot \frac{\Delta}{r} + \Delta \cdot m \rightarrow m^2 - 4m + r \rightarrow (m-r)^2 \rightarrow \boxed{ms - r}$$

$$m_1 \times m_2 \times m_3 \cdot (-1) \cdot (r) = r$$

DATE ~~7/1~~

SUBJECT :

Q) $y' + P_1 y = Q_1 y$ $M(x, -x)$ $y: P_1 - x$

$$y_5 = x - 1$$

$$y_s - f - y', \quad x_s f - x'$$

$$-\epsilon - \gamma' \cdot \gamma(\epsilon - x') - \gamma^2$$

eg's: $\lambda - \tan^{-1} \lambda \rightarrow y' \tan x - 1$

1. $A(1, 2) \rightarrow y = x + 1$ $A'(a, b)$ $Th_{A'}$?

$$y_5 x + d \rightarrow x - y + d s_0$$

$$A_{sl} \quad B_{sl} = -1 \quad C_{sl}$$

$$ax + by + c \sin(1) + d(1)(r) + e \sin(r)$$

$$a^p + b^p \mid 1 + b^p$$

$$x' = 1 - \frac{x(1)(\varepsilon)}{q} = 1 - \varepsilon = \mu$$

$$y' = r - \frac{r(-1)(\epsilon)}{r} = r - (-\epsilon) = r + \epsilon$$

$$a_s = r \quad b_s = y$$

$$r(b-a), r(y) = (-r) \begin{pmatrix} 5 & 17 & 15 & 12 \end{pmatrix}$$

$$A'(-3, 4)$$